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Answer:c) 1 &3
Explanation:

o Statement 1 is correct: The Prime Minister of India is the chairperson of the NBWL,
signifying its importance at the highest level of governance.

o Statement 2 is incorrect: The NBWL does not provide funding but acts as an advisory
body to the government on wildlife conservation matters and on clearing projects in
protected areas.

o Statement 3 is correct: The NBWL was established under the Wildlife (Protection) Act,
1972.

Qn. 2:d)
Explanation:

e The Dessoi Reserve Forest is a group of forests that includes Dessoi Valley, Dessoi, Tiru
Hills and Geleki, located along the Assam-Nagaland border..

Qn .3 Answer: a) Only 1 and 3 are correct
Explanation:

e Statement 1 is correct because withdrawal of accommodation refers to scaling back the
monetary easing that central banks introduced to stimulate the economy during a
downturn or crisis.

o Statement 2 is incorrect because lowering interest rates and increasing money supply
are part of accommodative policies, not the withdrawal of accommodation.

o Statement 3 is correct, as central banks withdraw accommodation when the economy
recovers to prevent overheating and inflation.



Qn. 4d all are correct



